EIN

&g & =

SM4E B B
REBAFAE £k
P
s
REEEA

[ZIEERCERICRDHMBBEEEE| CBT2EBICOVLT, ROEBYRBEY LET,

BEtEEE ¥ CHEHRA)
X% =g AR =L} HE B &%
REE AR S 10,000 4 A 40,000
A P B DI . 1,000 4 = 4,000
(OOBR~OO8R x F42)
AL SRS N 3,000 8 = 24,000
(OOBR~OO8R x F42)
W&
A P B O . 700 8 = 5,600
(OOBR~OO8R x F42)
SRR . 2,500 4 = 10,000
(OOBR~OO8R x F42)
RS |EBRSE (XA, B, HE% 25,000 1 ES 25,000
ok ] 0 0 0
TAE Lapet ] 0 0 0
FRIAE |77 DRI 8 300 ® 2,400
k#okE 0 0 0
BEERE |77 8ER 9,000 1 B0 9,000
IR, BAR 0 0 0
BBE
FH 0 0 0
1RBR 0 0 0
ERANROERR LIBERAR, BBERY 20,000 4 5 80,000
AF (B 200,000




